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SECTION A

1. Choose and write the correct option in the following questions. 3 XxX1=y

(1) In given figure, Z3 and Z7 are known as

/
e

n = >
3.4
5 A6
N = =
77/ 8
Fig. 6.90
(a) corresponding angles (b) co-interior angles
(c) vertically opposite angles (d) alternate angles

(1) Two angles are supplementary. One of them is an acute angle. Which of these could be the
measure of the other angle?

(@) 60° (b) 120°
(c) 200° (d) 240°
(ii1) In given figure, POQ is a line. The value of x is

4x
e 40° 3x -
P O Q
Fig. 6.91
(a) 20° (b) 25°
(c) 30° (d) 35°
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2. (1) In g, 6.92, if POQ is a line, find the value of x.

r Solve the following questions. 2x1=2)
; R
i

4x
2X
< / e
p O Q
Fig. 6.92

(i) Which angle is complement of itself

SECTION B

| Solve the following questions. (4 X2=28)
3. In Fig. 6.93, if a is greater than b by one third of a right angle find the values of a and b.

a
- b P
Fig. 6.93

4. Find the angle which is one-fifth of its complement.
5. InFig.6.94, Zx=Zyand Zw = Zz. Prove that!|| n.

Fig. 6.94
6. In the given Fig. 6.95, if ZPOR : ZPOS = 7 : 3, then find the measure of ZROQ.

Fig. 6.95
| Solve the following questions. 4xX3=12

7. In Fig. 6.96, AB || CD. Find the value of £FCE.

E

45°
80'

»>
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8. In Fig. 6.97, AB, CD and EF are three lines concurrent at O. Find the value of x.

Fig. 6.97
9. In Fig. 6.98, AB || CD, ZOEB = 135° and ZOFC = 40°. Find ZEOF.
& e,
Fig. 6.98
10. Prove that if two lines intersect each other, then the vertically opposite angles are equal.
[NCERT Exemy,
m Solve the following questions. BXxX5=;

11. Prove that if arms of an angle are respectively parallel to the arms of another angle, then y
angles are either equal or supplementary.

12. In Fig. 6.99, AB| CDand CD || EF. Also, EA 1 AB.
If ZBEF = 62°, find the values of w, x, y, z.

|

Fig. 6.99

13. If a transversal intersects two lines such that the bisectors of a pair of corresponding anglesa

parallel, then prove that the two lines are parallel.

Answers
1. () (a) (i) (b) (7ii) (a) 2. (1) 30° (i7) 45° 3. 105°, 75°
4. 15° 6. 54° 7. 85° 8. 18° 9. 85°

12. w = 62°,x = 118,y = 118°, 2 = 28°
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